= o
A & 0l & AF 2 E A A
202249 20la A=2=CHIISEESAH &M
A= SXAL= M ARSI =X
MY ) ZMBIF(MISX /I ENERET)
@ MASESASSHXN(AES0IISSESAH) (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
sNHL= 711,156,000 639,329,000 71,827,000
= 568,924,246
< 142,231,754
A2l = X2t 711,156,000 639,329,000 71,827,000
= 568,924,246
< 142,231,754
I ZHEEZ (A EXN /I =HEBEH) 711,098,323 639,266,217 71,832,106
= 568,878,104
=) 142,220,219
HASESABI U (ARS0II2SLE3H) 711,098,323 639,266,217 71,832,106
2 568,878,104
=) 142,220,219
2 ZHIERE 699,691,943 626,494,217 73,197,726
= 559,753,000
=) 139,938,943
308 XXIEHHSOIA 699,691,943 626,494,217 73,197,726
= 559,753,000
=) 139,938,943
13 2S0HetE & X2 EA I 699,691,943 626,494,217 73,197,726
[MESIE=S= U FSE=S. 697,682,943
= 558, 145,800
< 139,537,143
OAZ e s Xl 1,941,000
= 1,552,800
< 388,200
Dgasad S| 68,000
= 54,400
< 13,600
JBZHBMAISIE 2T 1,320,000 1,400,000 80,000
= 1,056,000
< 264,000
201 LEre Al 1,320,000 1,400,000 80,000
2 1,056,000
< 264,000
01 At 22/l 1,320,000 1,400,000 80,000
Ogst=2tl 1,320,000
Oz ZHHAMRAE =2 1,320,000
= 1,056,000
< 264,000
IBRSHAANR IS 10,000 10,000 0
= 8,000
< 2,000
201 Let2 | 10,000 10,000 0
2 8,000
< 2,000
03 &At2 I 10,000 10,000 0




A YEEE: SN ASI= XD
M I =MEBF(MIISX/I=MEEE)
el MASESASSHANE(AZSSHIISELESA) (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

OS2 ANAIS 10,000
2 8,000
< 2,000

ANZd2SWII=32Y 810,000 810,000 0
2 648,000
= 162,000

308 XXM SOIA 810,000 810,000 0
2 648,000
< 162,000

01 X HHBILEES 810,000 810,000 0
OANZdE220II==24E 810,000
= 648,000
< 162,000

2SI ZdE=S=N 7,519,000 8,865,000 A 1,346,000
= 6,015,200
< 1,503,800

308 MtXIEHSOIH 7,519,000 8,865,000 A 1,346,000
=2 6,015,200
< 1,503,800

01 HXNHHBHELS 7,519,000 8,865,000 A 1,346,000
Oodzg0Hd=zeE320¢ 7,519,000
= 6,015,200
) 1,503,800

o220 A2IAI (X&) 1,677,380 1,610,000 67,380
= 1,341,904
= 335,476

308 XXM SO0 A 1,677,380 1,610,000 67,380
= 1,341,904
S 335,476

01 IXNHHBHNEES 1,677,380 1,610,000 67,380
Oz 2elArd 1,677,380
= 1,341,904
< 335,476

HASEAZSHAILF=A 70,000 77,000 A7,000
= 56,000
< 14,000

201 Let2d] 10,000 12,000 A 2,000
= 8,000
< 2,000

01 At 22l 10,000 12,000 A 2,000
Opt=2Hl 6,000
Oz AIS LBt ==ZH| 6,000
= 4,800
< 1,200
[E=3=3:] 4,000
Od=SHAMEFE G4l 4,000




A= X242 = 2M @ Al =X
MY ) ZMBIF(MISX /I ENERET)
2| AEEZSHANI (A= SHIIZELSAH) (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 3,200
& 800
202 o4 | 10,000 15,000 A5,000
= 8,000
= 2,000
01 2L HI 10,000 15,000 A5,000
OS2 HAIEE 2= 04| 10,000
= 8,000
=} 2,000
305 HHA2S 50,000 50,000 0
= 40,000
= 10,000
01 HIASS 50,000 50,000 0
O=oHH A 2L 2D A 2 50,000
= 40,000
& 10,000
HHSAHH| (M2 X ) (IIEH/IIEH) 57,677 62,783 A5,106
= 46,142
== 11,535
clady|(d23HIIZ2ELESH) 57,677 62,783 N5,106
= 46,142
o= 11,535
A 2AH| 57,677 62,783 N5,106
= 46,142
o= 11,535
101 e1214| 57,677 62,783 A5,106
= 46,142
o= 11,535
03 222 (RIHAY) 2222 57,677 62,783 N5,106
Jozsa a2 s 57,677
= 46,142
& 11,535




